STT0000000

=19%8x9) * Gxdxdxivi)

faxaxa} (3xbxb

x=100F/kg

i }
818000 -729+1024 =(2x2x2)+(3%x2x2)
+ 555 24753 =8+12
770,818.;5_55 =20
4 - 59 5 235.6 6 1x6 =6
15 B e l L Yenths §x6 =35
Tghr Omin MNsec Ones o4t
5 Tens 3Bx8 = éjﬁ)_
— 8hr 25min b8sec : 5 216x6 =1295
Thr 34min 20sec Hundreds ‘ X )
; ~ Hint Kept multiplying by &
7 Fros L8+ & 23 8 4K + 4K + 4K = 380 9 | ¥=LxWxH
2 12K = 360° = 10mx 4mx 2m
o P et = 80m3
2“%0: _4_0.__@:}_‘!,:7 ﬂk'i‘ﬂ
' 2 2 12 125 Changing from m?’tu dastwe divide by 50
. k=30 = (80 +10)
: =8dast . _
10 | Paifa) 11| 100 pupils = 36days 12 Part (2
Let Ahfe sagebex fyears ago 1pupil = (36x100) days 200 = 120
x+4=17 =43-3 8 pup”s = 36 x 100 days 1dL|
x=17-4 =10 years old & Part ib;
i years = 45 days art (b} |
- x=13years » = __EB_ 1:3
Part{b 8
Syears from now
=1046
| =16yearsold =
W[ _D_100__ 4, 6, 6 5 | 1em rep §6,000em
2 2 6 8 2
Part (a) ‘ 8lm
. 8km »r e ;
A= mr? . 7 ™ T€P £0,000cm -
314 2 -
—_1?6 X SOCm X 50cm N R 899 000(_“”1
=314 x 5¢m X Scm —11 P "50,000cm
='7850¢m? 2 -~
Bkm rep il.Gcm
Pert (b) Thevefore the distance is 16cm
| = (7850 +10000)
= 0.785m? .
116 | Total number (a} : T
16 Each share = ki b b & 17| Patls 18 E_MLT(Q)
Total shares 8 5, 1v % A D=5x7T
_ 3 5 3 _ 30km 61
% o s
= 2 g_z___ = 80 pupils brs ] A "
s Therefore the answeris 33, D = 180km
Boys =80 X 2 = 160 P—%ﬂﬁ Pare i)
1 Ugue P
A r.no (180 +180)km
Girls =80 X7 =560 = =
1 + 1_1»-0 D=7 (6 + 4 hr
100 1two 360km
s = — = 36km/hr
o . 10hr - ]
19, Sum 18 18 o | 20| _First | +]Second =] Mix 21 | Solid X
T Quot+1 2+1 3 40 |+] 60 =] 100 M 209 _A.j
300 " 180 D= v TEemd T 0.8g/cm
2nd = (150 x Quot) (40 x 300) + (60 X x) = (100 x 180)
—6 x 2 12,000 -+ 60x = 18,000 Solid Y
4 60x = 18,000 — 12,000 oM 30y
60x = 6, 000 D= Ml/_' = 4‘—0‘;“7‘15 = (). 759/(31/1
60x _ 6,000
60 60 Solid X has greater density.
than solid Y ’
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2L FRP T SIS 1V 1V N 23 - 1 2 i_ 1' | 24 e
TP = —— Fr. es=— rrem-———:—’:—- S S
T X R fe f 272 2 DC = /BC?
90,000 x 100 1.1 1 = JEx BENC) ><'<'77
= Fr. food - - = . R ¢
3 x 10 3 2 6 = \/ZSLm - 16cm?
' = \/9cm‘
) = 300, 000Frw Fr.svd =1~ (fr.fees + fr. fd) = 8
2 11 ' Note:AD = DC = 3¢m
=1..(..+_) AC = AD + DC
£ b . =3em + 3cem
3+ 1 . = 6c\m
=1- - ) Part (b)
P=AB+3C 4+ CA
6 4 =5cm -+ Scm 1 Gem
s E - .6_ = 16cm
2 1
= = Eequwalent to 100,000
= 100,000 x 3
= 300, 000Frw e
25 126 | Areaof wall to be painted 27 l'eache) s guzdcznc.,
A=WxH BT A Fuqt e
=20m Xx2.5m 2,000,000 x 1 x4 o
= 50m? ie 100 80, Dt
Paint needed to paint wall A=2,000,000 4 80,000 = 2,080,000F
1m? = 0.095 litres
50m? = (50 x 0.095)litres Second year
. 2,080,000 x1 x4
= 4.75 litres I= 100 = 83,200F
Wassted paint A 2,080,000 + 83,200 « 2,163, 2005
- 16cm x 30cm = — x4.75
2 100 Third year
i 4-20sz = 0.2373 lttres Z 163,200 x 1 % 4 3 e e
' Total paint needed n oo 77T T 86,528k
T -= wall paint + wasted paint
. =4.75+0.2375 Compound Interest
§$=,/(15x 15) + (B x8) = 4.9875 litres =80,000 + 83,200 + 86, 528 .
= \/ZZSC.mZ + 64cm? Costof paint needed = 249, 728 Frw ‘
= V289cm? llitre = 3000Frw
49875 ; ;
=17cm : 4.98751 = X 3000 Part (h)
P=§ x4 164000 A=
=12962.5Frw ) ’ ) A
=17cm X4 . ~ 14,963 Frv. = 2,000, 00\1) + 249,728
= 680m o = 15,000Frw C= 2,249,728 Frw
29 Marks x [Frequency f f xx 30 1 a{i,0,65¢j43m)
0 4 (Ox4) =0 b.{a,m, },4,d,1 ek g}
1 11 {1x11) =11 fro o b
- (bl. Mean = & c.{5,,j, 4}
2 6 (2x86)=12 £
> v ; TR =5 d.{i,O,S,a,m,j,4,5,t,1,n,d,f,3
x3)= W
— (ax3 =1.57 o
4 2 (4X2)=8 _.._.2 e.{),43d,1}
v _ -
6 2 b4 =12 9-45,6,}, 4,a, m)
Total Total f=29 | Total fx=57 ‘
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